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3. AWISD (Velocity)
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5. AWISD (Acceleration)
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Some Fundamental
Constants of Physics®

Best (1998) Value

Constant Symbol Computational Value Value“ Uncertainty?

Speed of light in a vacuum c 3.00 X 10® m/s 2.997 924 58 exact
Elementary charge e 1.60 X 1071° C 1.602 176 462 0.039
Gravitational constant G 6.67 X 107" m3/s?-kg 6.673 1500
Universal gas constant R 8.31 J/mol - K 8.314 472 1.7
Avogadro constant Ny 6.02 X 10?3 mol ! 6.022 141 99 0.079
Boltzmann constant k 1.38 X 10723 J/K 1.380 650 3 1.7
Stefan—Boltzmann constant o 5.67 X 1078 W/m?-K* 5.670 400 7.0
Molar volume of ideal gas at STPY Vin 2.27 X 1072 m3/mol 2271098 1 1.7
Permittivity constant & 8.85 X 10712 F/m 8.854 187 817 62 exact
Permeability constant Mo 1.26 X 107° H/m 1.256 637 061 43 exact
Planck constant h 6.63 X 107345 6.626 068 76 0.078
Electron mass® m, 9.11 X 1073 kg 9.109 381 88 0.079

549 X 10~*u 5.485799 110 0.0021
Proton mass® my, 1.67 X 107?" kg 1.672 621 58 0.079

1.0073 u 1.007 276 466 88 1.3 X 1074
Ratio of proton mass to electron mass my/m, 1840 1836.152 667 5 0.0021
Electron charge-to-mass ratio e/m, 1.76 X 10" C/kg 1.758 820 174 0.040
Neutron mass¢ my, 1.68 X 10727 kg 1.674 927 16 0.079

1.0087 u 1.008 664 915 78 54X 1074
Hydrogen atom mass® my, 1.0078 u 1.007 825031 6 0.0005
Deuterium atom mass® my, 20141 u 2.014 1017779 0.0005
Helium atom mass® My, 4.0026 u 4.002 603 2 0.067
Muon mass m, 1.88 X 10728 kg 1.883 531 09 0.084
Electron magnetic moment e 9.28 X 1072 J/T 9.284 763 62 0.040
Proton magnetic moment My 1.41 X 10726 J/T 1.410 606 663 0.041
Bohr magneton B 9.27 X 1072* J/T 9.274 008 99 0.040
Nuclear magneton e 5.05 X 10727 J/T 5.050 783 17 0.040
Bohr radiug s 529 X 107" m 5.291 772 083 0.0037
Rydberg constant R 1.10 X 10’ m ™! 1.097 373 156 854 8 7.6 X 1076
Electron Compton wavelength Ac 243 X 1072 m 2.426 310 215 0.0073

“Values given in this column should be given the same unit and power of 10 as the computational value.

Parts per million.
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Hoop about
central axis

Annular cylinder
(or ring) about
central axis

Solid cylinder
(or disk) about
central axis

I=3MR?

(&)

—a— |

(h)

I=+MR?

I={M(a? +b?)

(a) I=%M(R? + R3) (o) (¢)
Axis
Solid cylinder Thin rod about Solid sphere
(or disk) about axis through center about any
central diameter perpendicular to diameter
length
(d) (e) I=2MR? (N
Axis
Thin Hoop about any Slab about
spherical shell diameter perpendicular
about any . axis through
R diameter center

Standard Prefixes Used
to Denote Multiples of Ten

Prefix Symbol Factor
Tera T 10"

Giga G 10°

Mega M 106

Kilo k 10°

Hecto h 10?

Deka da 10!

Deci d 107!

Centi c 1072

Milli m 1073
Micro w 107°

Nano n 107°

Pico p 1072
Femto f 10713

The Greek Alphabet

Alpha A « Tota
Beta B B Kappa
Gamma r vy Lambda
Delta A é Mu
Epsilon E € Nu
Zeta Z 14 Xi
Eta H n Omicron
Theta (S] 0 Pi

Basic Mathematical Formulas

Area of a circle = 7rr?

Circumference of a circle = 27r
Surface area of a sphere = 41rr?
Volume of a sphere = 37773

Pythagorean theorem: 7? = h,> + h,’

Sine of an angle: sin 6 = h,/h

Cosine of an angle: cos 6 = h,/h

Tangent of an angle: tan 6 = h,/h,

Law of cosines: ¢> = a®> + b> — 2ab cos y
Law of sines: a/sin a = b/sin 3 = c¢/sin 7y

Quadratic formula:

If ax*> + bx + ¢ = 0, then, x = (—b = Vb?> — 4ac)/(2a)

L Rho

1 P p
K K Sigma p3 o
A A Tau T T
M uw Upsilon Y v
N v Phi () ¢
= 3 Chi X X
o o Psi v ]
I T Omega Q )
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Conversion Factors

Time
y d h min SECOND
1 year = 1 365.25 8.766 X 103 5.259 X 10° 3.156 X 107
1 day = 2.738 X 1073 1 24 1440 8.640 X 10*
1 hour = 1.141 X 1074 4.167 X 1072 1 60 3600
1 minute = 1.901 X 1076 6.944 X 1074 1.667 X 1072 1 60
1 SECOND = 3.169 X 1073 1.157 X 1073 2.778 X 1074 1.667 X 1072 1
Mass
g KILOGRAM slug u oz Ib ton
1 gram = 1 0.001 6.852 X 107°  6.022 X 10 3.527 X 1072 2205 X 1073 1.102 X 107
1 KILOGRAM = 1000 1 6.852 X 1072 6.022 X 10%® 3527 2.205 1.102 X 1073
1 slug = 1.459 X 10* 14.59 1 8.786 X 10%7 514.8 32.17 1.609 X 102
1 atomic
mass unit = 1.661 X 1072* 1.661 X 10727 1.138 X 1072 1 5.857 X 10726 3.662 X 10727 1.830 X 1073
1 ounce = 28.35 2.835 X 1072 1.943 X 1073 1.718 X 10% 1 6.250 X 1072 3.125 X 107?
1 pound = 453.6 0.4536 3.108 X 1072 2.732 X 10%% 16 1 0.0005
1ton = 9.072 X 105  907.2 62.16 5463 X 10% 3.2 X 104 2000 1
Length
cm METER km in. ft mi
1 centimeter = 1 1072 1073 0.3937 3.281 X 1072 6.214 X 107°
1 METER = 100 1 1073 39.37 3.281 6.214 X 10~
1 kilometer = 10° 1000 1 3.937 X 104 3281 0.6214
1 inch = 2.540 2.540 X 102 2.540 X 1073 1 8.333 X 1072 1.578 X 1073
1 foot = 30.48 0.3048 3.048 X 1074 12 1 1.894 X 107
1 mile = 1.609 X 10° 1609 1.609 6.336 X 10* 5280 1
Speed
ft/s km/h METER/SECOND mi/h cm/s
1 foot per second = 1 1.097 0.3048 0.6818 30.48
1 kilometer per hour = 0.9113 1 0.2778 0.6214 27.78
1 METER per SECOND = 3.281 3.6 1 2.237 100
1 mile per hour = 1.467 1.609 0.4470 1 44.70
1 centimeter per second = 3.281 X 1072 3.6 X 1072 0.01 2.237 X 1072 1
Force
dyne NEWTON Ib pdl ef kef
1 dyne =1 1073 2.248 X 107° 7.233 X 1073 1.020 x 1073 1.020 X 1076
1 NEWTON = 10° 1 0.2248 7.233 102.0 0.1020
1 pound = 4.448 X 103 4.448 1 32.17 453.6 0.4536
1 poundal = 1.383 X 10* 0.1383 3.108 X 1072 1 14.10 1.410 X 102
1 gram-force = 980.7 9.807 X 1073 2.205 X 1073 7.093 X 1072 1 0.001
1 kilogram-force = 9.807 X 10° 9.807 2.205 70.93 1000 1
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Area

METER? cm? ft? in.?
1 SQUARE METER = 1 104 10.76 1550
1 square centimeter = 10~# 1 1.076 X 1073 0.1550
1 square foot = 9.290 X 1072 929.0 1 144
1 square inch = 6.452 X 10~ 6.452 6.944 X 1073 1
Volume
METER? cm? L ft? in.3
1 CUBIC METER = 1 10° 1000 35.31 6.102 X 10*
1 cubic centimeter = 1076 1 1.000 X 1073 3.531 X 1073 6.102 X 1072
1 liter = 1.000 X 1073 1000 1 3.531 X 1072 61.02
1 cubic foot = 2.832 X 1072 2.832 X 10* 28.32 1 1728
1 cubic inch = 1.639 X 1073 16.39 1.639 X 1072 5.787 X 10~4 1
Density
KILOGRAM/
slug/ft3 METER?3 g/cm? b/t Ib/in.3
1 slug per foot? = 1 5154 0.5154 32.17 1.862 X 1072
1 KILOGRAM
per METER? = 1.940 X 1073 1 0.001 6.243 X 1072 3.613 X 1073
1 gram per centimeter® = 1.940 1000 1 62.43 3.613 X 1072
1 pound per foot®> = 3.108 X 102 16.02 16.02 X 1072 1 5.787 X 1074
1 pound per inch® = 53.71 2.768 X 104 27.68 1728 1
Pressure
atm dyne/cm?  inch of water cm Hg PASCAL Ib/in.? 1b/ft?
1 atmosphere = 1 1.013 X 10° 406.8 76 1.013 X 10° 14.70 2116
1 dyne per
centimeter> = 9.869 X 1077 1 4015 X 107* 7.501 X 105 0.1 1.405 X 10> 2.089 X 1073
1 inch of
water? at 4°C = 2.458 X 1073 2491 1 0.1868 249.1 3.613 X 1072 5.202
1 centimeter
of mercury?
at 0°C = 1.316 X 1072 1.333 X 10* 5.353 1 1333 0.1934 27.85
1 PASCAL = 9.869 X 107¢ 10 4015 %1073 7501 X 107* 1 1.450 X 10~*  2.089 X 1072
1 pound per inch? = 6.805 X 1072  6.895 X 10* 27.68 5.171 6.895 X 10° 1 144
1 pound per foot?> = 4.725 X 107* 478.8 0.1922 3.591 X 1072 47.88 6.944 X 1073 1
Plane Angle
° ! " RADIAN rev
1 degree = 1 60 3600 1.745 X 1072 2778 X 1073
1 minute = 1.667 X 1072 1 60 2.909 x 1074 4.630 X 1073
1 second = 2.778 X 10~* 1.667 X 1072 1 4.848 X 107¢ 7.716 X 1077
1 RADIAN = 57.30 3438 2.063 X 10° 1 0.1592
1 revolution = 360 2.16 X 10* 1.296 X 106 6.283 1
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dx d
l.d—=1 9.d—cosx=—sinx

X X

d d d
2. o (au) = a—- 10. d—tanx = sec? x

x Ix

d d d d
3.a(u+v)—zxy-+a—: ll.d—cotx=—csc2x

X

d d
4. d—x’" = mxm ! 12. d_ SecC X = tan x sec x

X Ix

d d
5. —lnx=- 13.2—cscx=—cotxcscx

X x X

d d d d
6.a(uv)=uav’+vau 14.;6“:6";”
di
7.EveX=eX lS.asinu=cosuzu

d d u
8. —sinx = 16. — = —sinu —

o sin x = cos x o cos u sin u =
1.fdx=x ll.Jsinzxdx=%x—%sin2x
2.Jaudx=ajudx 12.fe“‘xdx=—le“”‘

a
1
3.f(u+v)dx=judx+Jvdx 13.Jxe‘”"a'x=——2(ax+l)e"""'
a
xm+1
4.fx’"dx: 1 -1) 14.f ““dx———(a X2 + 2ax +
m
o !
5. fﬁi—x =1In I 15. f X"e ™ dx = Z+1
x 0 a
dv du o 1-3-5 --- 2n-
6. | u e dx = uv — f v dx 16. f o= dy = 2”+1a(” n
7. fe"dxz e 17. f——zdx = = In(x + ? + a?)
VxTt+oa
8. fsinxdx= —Cos X 18. x dx 1
(x2 + a2)3/2 (xz + a2)1/2
9. fcosxdx = sin x 19. X
. o + 612)3/2 a?(x? + a?)'?
= * !
10. ftanxdx In Isec xl 20. (2] pax? gy = ! @>0
0 Zan+1
dx
21. f x+d=x—d1n(x+d)
X
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Table Useful Trigonometric Identities

sin® 6+ cos” 6= 1

sin (—@) = —sin @

cos (—6) =cos 8

tan (—@) = —tan @

sin (180° + @) =+ sin &
cos (180° = @) = —cos 6
tan (180°+ ) =+ tan &
sin (90° £ #) =cos
cos (90°t B)=Fsin g
sin 260=2 sin & cos &

cos 26 =cos” 6 —sin” @
=2cos’@—1=1-2sin" @

tan 20 =—2@n0 tan2¢9
1—tan @

sin (ot ) =sin & cos S+ cos « sin g

cos (a¢x ) =cos « cos B+ sin « sin S

tan o * tan S

t +tf)=-——mr————
an (a£ 4) 1 ¥ tan otan g

sin o + sin #=2 sin [3(a + B)] cos [2(a - B)]
sin o — sin f =2 cos [%(a/ + ,B)] sin [%(a - ,B)]
cos a + cos =2 cos [%(a + ﬂ)] cos [%(a - ,B)]

cos & — cos f=—2 sin [%(a + ﬂ)] sin [%(a - ,B)]
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